

On some identities of Rogers-Ramanujan type and continued fractions

Dr. Mohammad Shahjade and S. N. Singh*,
HOD, Department of Mathematics , MANUU, Poly. 8th Cross,
1st Stage, 3rd Block, NAGARBHAVI, BANGALORE -72.

Email Address: mohammadshahjade@gmail.com

*Department of Mathematics,

T.D.P.G. College, Jaunpur-222002 (U.P.) India.

E-mails; snsp39@gmail.com; snsp39@yahoo.com

Abstract: In this paper we have established certain results involving q-series identities and continued fractions.

Keywords and Phrases: q-series, Rogers-Ramanujan identities, Slater's identities and continued fractions.

Mathematics subject Classification: Primary 33D15, secondary 05A17, 05A19, 11B65, 11P81, 33F10.

1. Introduction, Notations and Definitions

The q-rising factorial $(a; q)_k$ is defined as,

$$(a, q)_k = \begin{cases} 1 & \text{if } k = 0; \\ (1 - a)(1 - aq)(1 - aq^2) \dots (1 - aq^{k-1}) & \text{if } k \geq 1. \end{cases}$$

Similarly, the infinite q-rising factorial is defined by

$$(a; q)_\infty = \prod_{r=0}^{\infty} (1 - aq^r), \quad \text{for } |q| < 1.$$

The q-generalization of $1+1+1+1+\dots+1=n$ is

$$1 + q + q^2 + \dots + q^{n-1} = \frac{1 - q^n}{1 - q}.$$

Similarly, Ramanujan generalized the continued fraction

$$1 + \frac{1}{1 + \frac{1}{1 + \frac{1}{\dots}}}$$

to

$$1 + \frac{q}{1 + \frac{q^2}{1 + \frac{q^3}{\dots}}}$$

and showed that for $|q| < 1$, this continued fraction is a ratio of very similar looking sums,

$$1 + \frac{q}{1+} \frac{q^2}{1+} \frac{q^3}{1+} \dots = \frac{\sum_{k=0}^{\infty} \frac{q^{k^2}}{(1-q)(1-q^2)\dots(1-q^k)}}{\sum_{k=0}^{\infty} \frac{q^{k(k+1)}}{(1-q)(1-q^2)\dots(1-q^k)}}, \quad (1.1)$$

where

$$\sum_{k=0}^{\infty} \frac{q^{k^2}}{(1-q)(1-q^2)\dots(1-q^k)} = \frac{1}{(q; q^5)_{\infty} (q^4; q^5)_{\infty}}, \quad (1.2)$$

and

$$\sum_{k=0}^{\infty} \frac{q^{k(k+1)}}{(1-q)(1-q^2)\dots(1-q^k)} = \frac{1}{(q^2; q^5)_{\infty} (q^3; q^5)_{\infty}} \quad (1.3)$$

are most famous ‘‘Series=Product’’ identities known as Rogers-Ramanujan identities.

Two identities on Slater’s list [4], number 34 and 36, can be stated as,

$$\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n} = \frac{1}{(q^3; q^8)_{\infty} (q^4; q^8)_{\infty} (q^5; q^8)_{\infty}}, \quad (1.4)$$

and

$$\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2}}{(q^2; q^2)_n} = \frac{1}{(q; q^8)_{\infty} (q^4; q^8)_{\infty} (q^7; q^8)_{\infty}}. \quad (1.5)$$

These identities become better known when they were given partition interpretations by Göllnitz [2] and independently by Gordon [3].

Two more identities which are special cases of corollary 2.7 on page 21 of [1] can be stated as

$$\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n} = \frac{1}{(q^2; q^8)_{\infty} (q^3; q^8)_{\infty} (q^7; q^8)_{\infty}}, \quad (1.6)$$

and

$$\sum_{n=0}^{\infty} \frac{(-1/q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n} = \frac{1}{(q; q^8)_{\infty} (q^5; q^8)_{\infty} (q^6; q^8)_{\infty}}. \quad (1.7)$$

In next section we shall establish continued fractions for the ratios of (1.4), (1.5) and (1.6), (1.7).

2. Main Results

In this section we shall establish continued fraction for the ratio of (1.4) and (1.5). Our attempt will also be to find a continued fraction for the ratio of (1.6) and (1.7).

$$\begin{aligned}
 & \frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2}}{(q^2; q^2)_n}} = \frac{1}{\frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}} \\
 & = \frac{1}{1 + \frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2} (1 - q^{2n})}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}} \\
 & = \frac{1}{1 + \frac{\sum_{n=1}^{\infty} \frac{(-q; q^2)_n q^{n^2}}{(q^2; q^2)_{n-1}}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}} \\
 & = \frac{1}{1 + \frac{q(1+q) \sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}} \\
 & = \frac{1}{1 + \frac{q(1+q)}{\frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}}} \tag{2.1}
 \end{aligned}$$

Again,

$$\begin{aligned}
\frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}} &= 1 + \frac{\sum_{n=0}^{\infty} \frac{q^{n^2+2n}}{(q^2; q^2)_n} \{(-q; q^2)_n - (-q^3; q^2)_n\}}{\sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}} \\
&= 1 + \frac{q \sum_{n=1}^{\infty} \frac{(-q^3; q^2)_{n-1} q^{n^2+2n}}{(q^2; q^2)_{n-1}}}{\sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}} \\
&= 1 + \frac{q^4 \sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+4n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}} \\
&= 1 + \frac{q^4}{\frac{\sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+4n}}{(q^2; q^2)_n}}} \tag{2.2}
\end{aligned}$$

Combining (2.1) and (2.2) we have,

$$\frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2}}{(q^2; q^2)_n}} = \frac{1}{1+} \frac{q(1+q)}{1+} \frac{q^4}{\frac{\sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+4n}}{(q^2; q^2)_n}}} \tag{2.3}$$

Iterating this process finally we have

$$\frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+2n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2}}{(q^2; q^2)_n}} = \frac{1}{1+} \frac{q(1+q)}{1+} \frac{q^4}{1+} \frac{q^3(1+q^3)}{1+} \frac{q^8}{1+ \dots} \quad (2.4)$$

(b) Let us now consider the ratio

$$\begin{aligned} & \frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-1/q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}} = \frac{1}{\sum_{n=0}^{\infty} \frac{(-1/q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}} \\ & \qquad \qquad \qquad \frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}} \\ & = \frac{1}{1 + \frac{\sum_{n=0}^{\infty} \frac{q^{n^2+n}}{(q^2; q^2)_n} \{(-1/q; q^2)_n - (-q; q^2)_n\}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}}} \\ & = \frac{1}{1 + \frac{\frac{1}{q} \sum_{n=1}^{\infty} \frac{(-q; q^2)_{n-1} q^{n^2+n}}{(q^2; q^2)_{n-1}}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}}} \\ & = \frac{1}{1 + \frac{q \sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+3n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}}} \end{aligned}$$

$$1 + \frac{1}{\frac{q}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}} + \frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+3n}}{(q^2; q^2)_n}}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}} \quad (2.5)$$

Since,

$$\begin{aligned} \frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+3n}}{(q^2; q^2)_n}} &= 1 + \frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}(1 - q^{2n})}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+3n}}{(q^2; q^2)_n}}, \\ &= 1 + \frac{\sum_{n=1}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_{n-1}}}{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+3n}}{(q^2; q^2)_n}}, \\ &= 1 + \frac{q^2(1+q)}{\frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+3n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+3n}}{(q^2; q^2)_n}}}. \end{aligned} \quad (2.6)$$

Combining (2.5) and (2.6) we have,

$$\frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-1/q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}} = \frac{1}{1 + \frac{q}{1 + \frac{q^2(1+q)}{\frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+3n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-q^3; q^2)_n q^{n^2+3n}}{(q^2; q^2)_n}}}}}. \quad (2.7)$$

Iterating this process, we finally get,

$$\frac{\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-1/q; q^2)_n q^{n^2+n}}{(q^2; q^2)_n}} = \frac{1}{1+} \frac{q}{1+} \frac{q^2(1+q)}{1+} \frac{q^5}{1+} \frac{q^4(1+q^3)}{1+} \dots \quad (2.8)$$

Acknowledgement

The second author is thankful to The Department of Science and Technology, Government of India, New Delhi, for support under a major research project No. SR/ S4/ MS : 735 / 2011 dated 7th May 2013, entitled “A study of transformation theory of q-series, modular equations, continued fractions and Ramanujan’s mock-theta functions.”

References

- [1] Andrews, G.E., The theory of partitions, Addison Wesley, Reading, MA, 1970.
- [2] Slater, L.J., Further identities of the Rogers-Ramanujan type, Proc. London Math. Soc. 54 (1952), 147-167.
- [3] Göllnitz, H., Partitionen mit Differenzenbedingungon, J. reine angew. Math. 225 (1967), 154-190.
- [4] Gordon, B., Some continued fractions of the Rogers-Ramanujan type, Duke Math. J. 32 (1965), 741-748.